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Planta Escada

COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

Planta Escada-1 - 1o Pavimento
     50A   1     6.3    12     343    4116
     50A   2    12.5    14     138    1932
     50A   3       8     8     336    2688
     50A   4     6.3    30     138    4140
     50A   5       8     7     303    2121
     50A   6       8    14     125    1750
     50A   7       8     7     348    2436
     50A   8     6.3    13     125    1625

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
     99       24    6.3     50A
     90       36      8     50A
     19       19   12.5     50A

Peso Total        50A =       78 kgf


